
Crib Assembly Instructions

Instructions d’assemblage Bassinette

Century Crib

Customer service telephone: 877-99-DWELL
Email: customerservice@dwellstudio.com



! WARNING:
Infants  can  suffocate  on  soft  bedding.   Never add  a  pillow or  comforter.  
Never  place additional  padding  under an infant.   Failure to  follow  these
warnings and the assembly instructions could result in serious injury or death.

 Read all instructions before assembling the crib.  Keep the instructions for future use.

 CAUTION: Any mattress used in this crib shall be at least 271/4 by 515/8 in.
                   with a thickness not exceeding 6 in.  

  (USA)

Infants can suffocate in gaps between crib sides and a mattress that is too small.

To reduce the risk of SIDS, pediatricians recommend that healthy infants be placed on their backs to 
sleep, unless otherwise advised by your physician.

Strangulation Hazard: Strings can cause strangulation!  DO NOT place items with a string around a 
child’s neck, such as hood strings or pacifier cords.  DO NOT suspend strings over a crib or attach 
strings to toys.  * To help prevent strangulation tighten all fasteners.  A child can trap parts of the body 
or clothing on loose fasteners.  * DO NOT place the crib near any window where cords from blinds or 
drapes may strangle the child.
Fall Hazard: When the child is able to pull to a standing position, set the mattress support to its lowest 
position and remove bumper pads, large toys and other objects that could serve as steps for climbing 
out.  *Stop using the crib when the child begins to climb out or reaches the height of 35 in. (89 cm).
Check this product for damaged hardware, loose joints, loose bolts or other fasteners, missing parts, or 
sharp edges before and after assembly, and frequently during use.  Securely tighten loose bolts and 
other fasteners.  DO NOT use the crib if any parts are missing, damaged or broken. Contact 
DwellStudio for replacement parts and instructional literature if needed. DO NOT substitute parts.
Never use plastic shipping bags or other plastic film as mattress covers because they can cause 
suffocation.
If refinishing, use a non-toxic finish specified for children’s products.
Follow all warnings on all products placed in the crib.
When storing the crib please use caution, as extreme changes in temperature or humidity can 
compromise the integrity of the crib.

Use caution when a vaporizer or humidifier is in use.  Always aim vapor away from the crib as well as 
any other wooden furniture. 

Clean the crib with water and a soft cloth.  Do not use chemicals. 

               Version 10a



! WARNING:

 

  (Canada)

DO NOT use this crib if the enclosed or attached instructions cannot be strictly adhered to.  

Strangulation Hazard: DO NOT place cords, straps or similar items that could become wound around the 
child’s neck in or near this crib. DO NOT suspend strings over a crib or attach strings to toys.  DO NOT 
place this crib near a window or a patio door where a child could reach the cord of a blind or curtain and
be strangled.  

Fall Hazard: DO NOT use this crib if the child is able to climb out unaided or is taller than 90 cm.
When the child is able to pull to a standing position, set the mattress support to its lowest position and 
remove bumper pads, large toys and other objects that could serve as steps for climbing out.  

Check this crib for damaged hardware, loose joints, loose bolts or other fasteners, missing parts, or 
sharp edges before and after assembly, and frequently during use.  Securely tighten loose bolts and 
other fasteners.  DO NOT use the crib if any parts are missing, damaged or broken. Contact DwellStudio 
for replacement parts and additional instructions if needed. DO NOT substitute parts.
Children can suffocate on soft bedding.  Do not place pillows, comforters or soft mattresses in this crib.

When storing the crib please use caution - extreme changes in temperature or humidity can compromise 
the integrity of the crib.  If refinishing, use a non-toxic finish specified for children’s products.
Use caution when a vaporizer or humidifier is in use.  Always aim vapor away from the crib as well as any 
other wooden furniture.   Clean the crib with water and a soft cloth.  Do not use chemicals.

----------------------------------------------------------------------------------------------------------------------------------------------
! MISE EN GARDE:

 

NE PAS utiliser le lit d’enfant à moins d’être en mesure de suivre précisément les instructions 
qui l’accompagnent. 

Risque d’étranglement:  Ne pas mettre dans le lit, ou à proximité de celui-ci des cordes, courroies ou 
objets semblables qui risqueraient de s’enrouler autour du cou de l’enfant.  NE PAS placer le lit près 
d’une fenêtre ou d'une porte-fenêtre ou l’enfant pourrait se saisir des cordes d’un store ou d’un rideau et 
s’étrangler.

Risque de tomber:  Ne pas utiliser le lit si l’enfant est capable d’en sortir ou mesure plus de 90 cm.  
Quand l’enfant est capable de se mettre debout, mettre le matelas à la position la plus basse et enlever 
tous les objets qui pourront servir de marches pour sortir.    

Vérifier régulièrement le lit préalablement à son utilisation et ne pas l’utiliser en case de détection d’une 
pièce desserrée, de pièce manquante ou de tout signe de dommages.  Ne pas substituer une pièce à 
une autre. Communiquer avec DwellStudio pour obtenir, au besoin, une pièce de rechange ou
des instructions supplémentaires.   

Jamais utiliser les sacs de plastiques ou autre pellicule en plastique comme housse de matelas car ça 
peut causer la suffocation.  

Utiliser  un  matelas  pour  lit d’enfant  dont l’épaisseur est d’au  plus 15 cm et dont la superficie permet 
d’empêcher, lorsqu’il est poussé fermement contre un côté quelconque du lit, qu’un espace de plus de 
3 cm soit créé entre le matelas et une partie quelconque de toute côté.

Faire attention lors de l’utilisation d’un humidificateur ou vaporisateur pour ne pas diriger la vapeur 
directement sur le lit.  Quand vous voulez conserver le lit d’enfant hors d’utilisation, faire attention aux 
changements extrêmes de température ou humidité car peuvent rendre la structure du lit non
sécuritaire pour votre enfant.   Version 2010-261

Use a crib mattress that is no thicker than 15 cm and is of such a size that, when it is pushed firmly 
against any side of the crib, it does not leave a gap of more than 3 cm between the mattress and any part
of the sides of the crib. 

Never use plastic film or bags as mattress covers because they can cause suffocation.

L’enfant peut s’étouffer en présence d’articles de literie mous.  Ne pas mettre dans le lit d’oreiller, 
d’édredon ou de matelas mou.



1

Century Crib/Bassinette

Hardware/Quincaillerie

h
Allen key/Clé Allen
Qty: 1

d 
Allenhead Bolt 5/8"/16mm
with lock washer
avec rondelle de blocage
Qty: 12

metric 6

b
Allenhead Bolt 1 3/4"/45mm
with lock washer
avec rondelle de blocage
Qty: 8

metric 6

c
Allenhead Bolt 1 1/4"/35mm
Qty: 1

metric 6

g
Mattress Support Bracket/Support
Qty:4

J
Leg Bracket/Support patte
Qty: 4

e
Bolt 5/8"/16mm
Qty: 4

metric 8

A
Allenhead Bolt 2"/50mm
with lock washer
avec rondelle de blocage
Qty: 4

metric 5

f
Wing Nut/Papillon
Qty: 4



2

Century Crib/Bassinette

Parts/Pièces

2 Stationary Sides/2 Côtés Fixes

Mattress Support/Support de Matelas

Upper Leg Cross-Piece/Pattes en Croix (Haut)

Lower Leg Cross-Piece/Pattes en Croix (Bas)

1 Left & 1 Right Headboard
1 Tête Gauche &  1 Tête Droite

Bottom/Bas

Bottom/Bas



3

Century Crib/Bassinette

Attaching the Mattress Support
Assemblage du Support de Matelas

*NB: You will be assembling the crib on its side 
(See Figure 2)

Step 1: Affix the 4 mattress support brackets (G) 
to the left and right headboards using the 5/8’’ 
bolts with lock washers (D), provided. Be sure that 
they are square (level @ 90°.) (We recommend 
using the highest hole/position for newborns). 
(See Figure 1) 

*NB: Assemblez la bassinette sur le côté (Voir 
Figure 2)

Étape 1: Fixer les 4 supports de métal (G) aux 
côtés gauche et droit avec les vis 5/8’’ avec 
rondelle de blocage (D), assurez-vous que les 
supports de métal (G) sont bien à l’équerre. (Nous 
recommandons de choisir la position la plus haute 
pour un nouveau né). (Voir Figure 1)

Allenhead
Bolt 5/8" 
with lock 
washer (D)

(F)

(G)

Allenhead
Bolt 2’’ (A)

Figure 1

*Attention*
During the assembly process we recommend that 
you do not completely tighten any bolts/nuts until 
the very end. This will leave room for adjustments 
and prevent the stripping of bolts.

*Attention*
Au cours du processus d’assemblage, nous 
recommandons que vous ne serrez pas 
complètement les boulons et écrous jusqu’à la fin. 
Cela laisse place à l’ajustements.

Bottom/Bas



4

Step 3: Affix one stationary side 
(lateral holes inside) to the right & left 
headboards using the 1 3/4’’ Allenhead 
bolts with lock washers (B) provided. 
(See Figure 3)

Étape 3: Déposez un côté fixe (trous 
vers l’intérieur) sur les têtes gauche et 
droite. Ensuite, visser solidement avec 
les vis Allen 1 3/4’’ avec rondelle de 
blocage (B). (Voir Figure 3)

Century Crib/Bassinette

Attaching the Mattress Support and 1st Stationary Side
Assemblage du Support de Matelas et Côté Fixe 

Step 2: Place the mattress support on 
top of the 4 brackets (G), now affixed 
to the left & right headboards and 
secure using the 2’’ Allenhead bolts 
with lock washers (A) and wing nuts 
(F) provided. (See Figure 1 & 2 ) Pass 
the Allenhead bolts with lock washers 
(A) through the holes of the mattress 
support and the holes in the brackets 
(G). Tighten

Étape 2: Déposez le support de matelas 
sur les 4 supports de métal (G) de la 
tête gauche et droite, puis fixez-le avec 
les vis Allen 2’’ avec rondelle de blocage 
(A) et les papillons (F). (Voir Figure 1 
& 2) Passez les vis Allen avec rondelle 
de blocage (A) à travers les trous du 
support de matelas et les trous du 
support de metal (G). Serrez fermement.

Figure 2

Figure 3

(b)

(b)

(b)

(b)

Bottom 
Bas

Bottom 
Bas



5

Century Crib/Bassinette

Attaching the 2nd Stationary Side & Assembling the Legs
Fixation de la Deuxième Côté Fixe & L'assemblage des Pattes

Figure 4

(b)

(b)

(b)

(b)

(c)

Step 4: Now flip the crib so that the 
bottom is oriented upwards (NB: you 
will see 8 exposed holes). Then  
attach the second stationary side to  
the crib using the 1 3/4’’ Allenhead 
bolts with lock washers (B) provided. 
Tighten all bolts. (See Figure 4)

Étape 4: Retournez la bassinette face 
BAS vers le HAUT (NB: vous devez  
voir les 8 trous sur le dessous) et visser 
solidement le 2e côté fixe sur têtes 
gauche et droite avec les vis Allen 
1 3/4’’ avec rondelle de blocage (B). 
Vissez solidement touts les vis. 
(Voir Figure 4)

Figure 5

Bottom/Bas

Step 5: Assemble the upper & lower leg 
cross-pieces to form an X. Use the 1 1/4’’ 
Allenhead bolt (C) provided to affix the 
legs and tighten. (See Figure 5)

Étape 5: Assembler les pattes en croix, 
puis visser le centre de la croix avec la 
vis 1 1/4’’ (C). (voir Figure 5)



6

Century Crib/Bassinette

Attaching the Leg Brackets and Legs
Assemblage des Supports des Pattes et des Pattes

Figure 7

Step 6: Flip the X over so that the 
(pointy) feet are on the floor. Affix to 
each top a leg bracket (J) using the 
5/8’’ Allenhead bolt provided (E). Do 
not tighten completely because you 
may need a little room for adjustment 
during the next step. (See Figure 6)

Étape 6:
Retournez les pattes puis visser sur 
chacunes d’elles le support de patte 
(J) avec les vis Allen 5/8’’ (E). Ne pas 
serrer complètement car vous aurez 
besoin de jeu pour l’étape suivante. 
(Voir Figure 6)

(D) (D)

Figure 6

(e) (e)

(e)
(e)

Bottom/Bas Step 7:
Now flip back the X (legs) so that the 
brackets (J) touch the bottom of the 
crib. Affix to the crib using the 5/8’’ 
Allenhead bolts with lock washers (D) 
provided. (See Figure 7) Now you can 
completely tighten the 5/8’’ Allenhead 
bolts (E) in step 6 from underneath. 
Tighten all bolts. (See Figure 7) Flip the 
crib over. You are now done.

Étape 7:
Fixer les supports de pattes avec les 
vis Allen 5/8’’ avec rondelle de blocage 
(D). (voir Figure 7) Puis revisser 
solidement les vis Allen5/8’’ (E) des 4 
pattes. Assurez-vous que toutes les 
vis sont serré fermement avant de 
retournerla bassinette sur ses pattes.



7

Hole/Trou (l) 
+ Bolt (D)

Hole/Trou (K)
(J)

Century Crib/Bassinette

Moving the Mattress Support to the Lowest Position
Assemblage du Support de Matelas à la Dernière Position Bas 

Figure 9

Step 8: Lay the crib on its side. Unscrew 
the bolts with lock washers (A) and 
wing nuts (F), the bolts with lock 
washers (D) and the mattress support 
brackets (G) which affix the mattress 
support to the crib. Parts A, F, & G can 
be placed aside in storage. You will 
need the four 5/8’’ allenhead bolts 
with lock washers (D) to reattach the 
mattress support to the leg brackets 
(J). (See Figure 8)

Étape 8: Coucher la bassinette sur le 
côté. Dévisser le support de matelas, 
mettre de côté, puis dévisser les 4 
supports de metal (G),mettre de côté 
avec les vis Allen 2’’ avec rondelle de 
blocage (A) + les papillons (F). Garder 
seulement les 4 vis Allen 5/8’’ avec 
rondelle de blocage (D) pour revisser le 
support de matelas sur les supports de 
pattes (J). (Voir Figure 8)

Figure 8

(G) (D)

(A)

(J)

(F)
Hole/Trou (l)

Hole/Trou (K)

Bottom/Bas

Bottom/Bas Step 9: Now lower the mattress 
support onto the 4 leg brackets (J). 
Align the exposed holes (K) on the 
mattress support to the holes (L) on 
the leg brackets (J) and affix using  
the four 5/8’’ Allenhead bolts with 
lock washers (D) left over from step 8. 
Tighten. (See Figure  
8 & 9) You are now done.

Étape 9: Déposez le support de matelas 
sur les 4 supports de pattes (J). Aligner 
les trous (K) du support de matelas avec 
les trous (L) des supports de pattes 
(J) puis fixer avec les vis Allen 5/8’’ 
avec rondelle de blocage (D). Serrer 
fermement. (Voir Figure 9) Vous avez 
maintenant complèté l’assemblage.



8

Étape 10: Maintenant vissez solidement toutes les vis de cette liste de contrôle:

□	 8 vis (B) qui fixent les deux côtés fixes aux têtes droite et gauche. 

□	 4 vis (A) + 4 papillons (F) qui fixent le support de matelas sur les quatre support de 
	 métal (G). 

□	 4vis (D) qui fixent les quatre support de métal (G) sur les têtes gauche et droite. 

□	 1 vis (C) qui fixent les deux pattes en croix ensemble. 

□	 4 vis (E) qui fixent les quatre supports pattes (J) sur les quatre pattes en croix. 

□	 8 vis (D) qui fixent les quatre supports pattes (J) en dessous de la bassinette.

Vous avez complété avec succès l’assemblage de la bassinette.

  Maintenance périodique conseillée

1. Serrez toutes les vis aux 6 mois ou si vous déménagez la bassientte ou si vous la réassemblée dans un 
autre endroit.

2. Vérifiez l’intégrité des barreaux en haut et en bas de chacun dans le but de détecter leur
affaiblissement ou autre anomalie.

Century Crib/Bassinette

Check-list and Maintenance
Liste de Vérification et d'Entretien 

Step 10: Now firmly tighten all the bolts in this check list:

□	 8 bolts (B) which affix the two stationary sides to the left and right headboards.

□	 4 bolts (A) + 4 wing nuts (F) which affix the mattress support to the four brackets (G).

□	 4 bolts (D) which affix the four brackets (G) to the left and right headboards.

□	 1 bolt (C) which affixes the upper & lower leg cross-pieces together.

□	 4 bolts (E) which affix the leg brackets (J) to the four leg cross-pieces.

□	 8 bolts (D) which affix the leg brackets (J) under the crib.

You have successfully assembled the crib.

  Suggested periodic maintenance on the crib

1. Tighten all the screws periodically, or if you move the crib in another location,
or if you re-assemble the crib.

2. Verify the integrity of the slats on the top and bottom of each one in order to detect potential weakening 
or other anomalies.


